DNA Notes Part 2

· DNA Structure

NUCLEOTIDES

DNA is made of repeating DNA subunits called nucleotides that make up the entire DNA molecule.

They contain the nitrogen bases, a 
sugar and a phosphate group.

Nucleotides join together to make the long strand of DNA.

The bases are the “rungs” of the ladder

There are four DNA bases:

· Adenine (A)

· Thymine (T)

· Guanine (G)

· Cytosine (C)

The sides of the ladder

The sides of the ladder are made up of alternating sugars (deoxyribose) and phosphate groups.

DNA BASE PAIRINGS

The DNA bases will always be paired in a specific way.

A will always be paired with T

T will always be paired with A

C will always be paired with G

G will always be paired with C

SO……………………

Because your DNA is two strands intertwined….

It will look something like this:  AATGGCACCGAATCGGTCATC


TTACCGTGGCTTAGCCAGTAG

These two strands

are called

“COMPLIMENTARY

SEQUENCES”

DIFFERENT DNA = DIFFERENT ORGANISM

Will an elm tree, a deer and a bacteria have the same DNA sequence?

Of course not!

How about you & the person you are sitting next to?

NO!

Each organism, even of the same species has a different DNA sequence!

SIMILAR ORGANISM = SIMILAR DNA

Which pair has DNA sequences closest to the other?

1.  Elm Tree & Deer

2.  Elm Tree & You

3.  Deer & You

4.  You & The Person Next To You

ANSWERS

1.  A deer would have a closer DNA sequence to you than an elm tree (because a deer is an animal, just like you!)

2.  But, the person next to you will have an even closer DNA sequence to you than either the elm tree or the deer (because you are of the same species!)

3.  But—NO ONE (unless you have an identical twin) has the SAME DNA!!!!!!

WHAT MAKES DNA SEQUENCES DIFFERENT?

The species that you belong to will determine about 99% of your gene combinations.  (THESE ARE SHARED CHARACTERISTICS)

It is passed along from generation to generation in the species.

YOUR SPECIFIC PARENTS WILL DETERMINE THE OTHER <1% OF YOUR DNA SEQUENCE.

THE ORDER OF DNA BASES MAKES YOU-  YOU!

Even though there are only 4 nitrogen bases IN ALL THE ORGANISMS OF THE WORLD….it’s the SEQUENCE of those bases that makes the differences!

The sequence ATATGACCG codes for different traits than CGGATCTAA.

